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k=0.70 N.m-!
x=34x10° m - =
T Fspnng_Fe_kx
radius of ring ring
R =20x103 m
Fr+ Fg
mass of ring
m=7.0x104kg

spring restoring force = F_ =k X
weight of ring = F;=m g
surface tension force = F;=y L

Coefficient of surface tension =y =? N.m

The length of contact L, with the water surface is twice the
circumference of the ring since there is water on both sides of the ring.
L=22mR)=41R

Equilibrium

F.=F +F,

kx=4mRy+mg

y=(kx—-mg)/(4mTR)

¥ ={(0.70)(34x10 ) - (7.0x10 " )(9.8)} / {(4T)(20x10 )} N.m

-1
y =0.076 N.m
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